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1 (a) Whatis % as a percentage?

Circle your answer.
[1 mark]

15% 5% 15% 20%
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1 (b) Whatis 0.9as a percentage?

Circle your answer.
[1 mark]

0.009% 0.09% 9% 90%
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17

Here is some information about a group of children.
Moved earlier in paper.
Left-hai 3

Right-ha 12
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17 (b) What percentage of the boys are left-handed?
[2 marks]

Answer %
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10 Ishmacl is a salesperson for a company.

His monthly wage is made up of his fixed basic wage plus commission.
His commission for a month is a fixed percentage of the sales he makes that month.

The table gives some information about his monthly wages.

Month Monthly wage (£) Sales (£)
June 1700 20 000
July 2200 30 000
August 2050 27 000

In September, Ishmael’s monthly wage was £1850

Work out his sales. in £, for September.





